Mathematics – Grade 8

Curriculum Development and School Improvement- Secondary

MA.8.G.2.1 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______


1. Zip Line USA has two similar rides as shown below.  The longer ride travels 1,600 feet from the starting point and has a ride length of 2,500 feet.  The shorter ride travels 1,000 feet from the starting point.  What is the ride length of the shorter zip line? 
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A.  600 feet
B.  1,500.0 feet
C.  1,562.5 feet
D. 4,000 feet
2. A golf course architect uses similar triangles to measure the distance across a water hazard as shown below.  What is the distance across the water hazard?
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F. 13.3 feet
G.  40 feet
H.  120 feet
I.  2,400 feet  
3. A six foot tall man stands next to a flag pole.  The man casts a 4 foot shadow and the flag pole casts a 30 foot shadow.  What is the height of the flag pole?  
A.  24 feet  
B.  45 feet
C.  120 feet
D.  180 feet
4. In the figure below, 
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are similar triangles.
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What is the length (in centimeters) of
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5. A surveyor is trying to find the height of a tree.  He creates two similar triangles as shown below.  What is the height of the tree?
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